[image: image1.png](a) Indicate whether the following statements are true or false by putting a tick in the relevant column of
the table below.

Issues of inventory using AVCO will aways be
costed at the Iatest purchase price.

Fixed costs per unitreduce as more units,
are produced.

SIS

Materials used in production are 3 direct cost

‘Budgeted costs for a period are those costs that have
been incurredto date.

(4 marks)







Sample assessment model answers

Elements of costing (ELCO) SAM (AQ2016)


Task 1  (8 marks)
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[image: image2.png](b) Indicate the characteristics for each system by putting a tick in the relevant column of the table.
below.

‘The statements of this system are of interestto
shareholders and potential shareolders.

“This system allows 3 business to classify a product v
cost by its elements.

This system produces statements that use past and

forecast costs to assist planning. v

This system produces a statement that shows
proftabilty for a past period.

(4 marks)




Task 2  (8 marks)

[image: image3.png](a) Classify the following costs it incurred by element (material, labour or overhead) by putting a tick in
the relevant column of the table below.

‘Shampoos and dyes used by
hairdressing styists

Rentof salon

Wages paidto hairdressing styists

Repairs to salon equipment

(4 marks)




[image: image4.png](b) Classify the following costs incurred by nature (direct or indirect) by putting a tick in the relevant
‘column of the table below.

Salaries of sales stafl
Heating costs o factory
Wages of production employees
Varmish usedto finish offce furniture

(4 marks)




Task 3  (6 marks)

[image: image5.png]Code the following transactions for the project, using the table below.
Each transaction should have a six character code.

Activity

Code

Nature of c

Transaction

Imestmens | w7 |exema o [Reprons o
e i L

Revenuss Ren  [romtatc | ss | satresottmnaners | cosnen
Passongerian] w75 ||Resemetomesn | o,

Costs o5 |ustera st | memattnds vsesortl
Labour 523 | Passengertaicrovense | renars
Ouaheads 7=





Task 4  (12 marks)

[image: image6.png](a) Identify the type of cost behaviour (fixed, variable or semi-variable) described in each statement by
putting a tick in the relevant column of the table below.

AL7,500 units this costis £4.40 per unit and at 4,125
units itis £8 per unit

'AL4,000 units this costis £8,000 and a1 2,500 units
itis £5,000.

‘AL 13,600 units this costis £57,500 and at 10,000 units|
this costis £47.000.

(6 marks)

(b) Complete the table below by inserting all costs for the activity levels of 2,500 and 3,750 units.

Variable cost (£)

Fixed cost £)

Total cost (£)

13500

(6 marks)




Task 5  (12 marks)

[image: image7.png](a) Complete the table below to show the possible overhead absorption rates that Marchment Ltd could
‘use. The absorption rates should be calculated to two decimal places.

Overheads (£) 270000 270000 270000
Activity 36000 22500 180000
‘Absorption rate (£) 75 12 15

3 marks)




[image: image8.png](b) Complete the table below (to two decimal places) to calculate the total unit cost, using the three.
‘overhead absorption rates you have calculated in (a).

Material s s s
Labour 4 4 4
Direct cost 2 2 2
Overheads 25 3 15
Total unt cost 145 15 125

9 marks)




Task 6  (12 marks)

[image: image9.png]Complete the table below.

4000 24000 12000 36000 °
6000 24000 18000 42000 7
12,000 24000 36000 60000 5

(12 marks)





Task 7  (14 marks)

[image: image10.png](a) Reorder the following costs into a manufacturing account format for the year ended 31 December.
You should drag each item to the correct position on the list on the right hand side below.
Note that where costs are not given you will need to determine these in part b).

[Opening inventon o raw matera 0]
[Purchase of raw materal o000 ]
[Gosing inventoy of raw materia |
[Direct materalusea ]
[Directiabour |
[rectoost ]
[Hanufacurng overneass Fraran |

[Hanuacturing cost ]

[Opering mientor otwork mproaress __£49000 ]

[Ciosing inventory of wrk n progress_£52.000 ]

[Gostotgoos manufactured ]

[Opening inventon o fished gooss __ £71500 ]
[Glosing iventon ot msheagoods _£e8 500 ]
[Gostotgooss soia. ]

@ marks)







Task 7 continued
[image: image11.png](b) Determine and enter the cost totals below, using your answer to part (a) to help you.

Direct material used £ 1800
Directcost £ 126600
Manufacturing cost £ 264000
Costof goods manufactured £ 261000
Gostof goods sold £ 263900

arks)




Task 8  (9 marks)
[image: image12.png](a) Identify the valuation method described in the statements below.

‘The issue of 2,000 units is costed
at£6,180
‘The issue of 2,000 units is costed
at £6.250

“The closing inventory s valued at
£1,200

6 marks)




[image: image13.png](b) Identify whether the statements in the table below are true or false by putting a tick in the relevant
column.

FIFO values the closing inventory at £1,320.

LIFO costs the issue of 2,000 units t£6,180.

AVCO values the closing inventory at 1,250

(3 marks)




Task 9  (12 marks)
[image: image14.png]Complete the table below by entering the cost of issues and closing inventory values.

FIFO 7200 4600
LFO 8000 3800
Aveo 7520 4280

(12 marks)




Task 10  (8 marks)
[image: image15.png](a) Identify the following statements as being true or false by putting a tick in the relevant column of the
table below.

During a 35 hour week the employee produces
975 units and earms total pay of £600.

‘During a 37 hour weekthe employee produces
1,065 units and eams a bonus of £56

During a 40 hour week he employee produces
1,180 units and eams total pay of £712.

SIS

6 marks)




[image: image16.png](b) Calculate the basic wage, overtime and gross wage for the week for the two employees in the table
below.

Note: f no overtime is paid you should enter 0 as the overtime for that employee.

T.Evans a8 450 225 675

(2 marks)




Task 11  (8 marks)
[image: image17.png]Complete the table below for the two methods showing the gross wage for the time-rate with bonus and
the piecework wage. Note: f no bonus is paid, you should enter 0 as the bonus for that employee in the
table.

Hours Uit Basic Wage Bonus Gross Wage
worked  Output

iecework Wage.

E 387 0 387

40 468 430 51 481 468





Task 12  (9 marks)
[image: image18.png](a) Identify the following statements as being true or false by putting a tick in the relevant column of the
table below.

‘An adverse costvariance occurs when an actual total
costof £470 is compared to a budgeted cost of £12
per unitfor a budgeted output of 400 units.

Afavourable sales variance resuls from actual
revenue being greater than budgeted revenue.

An actual costis a forecast for a future period.

Budgeted sales are a forecast of sales activityfor a
future period.

(4 marks)




[image: image19.png](b) In the table below, determine whether the variance for each cost type is adverse or favourable by
putting a tick in the relevant column.

Orectmaterss stam|  easeo
[ Tasm| | 7at00
Prodmoeenss | sasi| 103900
Aamigeaion o s
Selngsnaasoaio | 7500 oe00

(5 marks)




Task 13  (8 marks)
[image: image20.png]In the table below, insert the budget amount for each item, calculate each variance and then determine
‘whether itis adverse or favourable by putting a tick in the relevant column.

Sales 1227000 | 1.231,000 4000
Material 7900 | aez00| 1700
Labour 99500 | 10100 8600
Overheads 98800 | 103,300) 4500

8 marks)




Task 14  (6 marks)
[image: image21.png]Calculate and insert in the table below the production cost variances and the variances as a percentage
of budget (rounded to two decimal places).

Direct material 95,000 4885 514
Direct labour 102,000| 4900 48
Production overheads | 115,000 5385 468

6 marks)




Task 15  (8 marks)
[image: image22.png](a) Examine the variances in the table below and then determine whether they are significant or not
‘significant by putting a tick in the relevant column of the table below.

g:;‘:ﬂ’:\ael:r:‘ 99,500 5,970
g:;:n’r::e‘:l";‘ 101,200 4,900
Devatimenth e
g:;‘:{l‘;’::l‘:’B 68,750 4,005

(4 marks)




[image: image23.png](b) Identify the following statements as being true or false by putting a tick in the relevant column of the
table below.

‘A performance report for the Direct Material cost
of Department A should be sentto the puchasing
manager

Aperformance report for the Direct Labour cost of
Department A should be sent to the sales manager.

of Department B should be sent to the production
manager for Department A

‘A performance report for the Direct material cost
of Department B should be sent to the production
manager for Department b.

e g
v

(4 marks)




